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2016/9/11 LELEAESE 2 Bk 15 =l
&S BHAsE - 17:00 HEKRT . 19:09
F— L 1Q 2Q 3Q 4 Q 8 § 44 &
LEXE 20 14 14 7 55 285080 B5 =4
TIEXE 0 0 6 0 6 Of528% B0
a8
Q Time |Team| Yd Play Player (s) PAT Player (s) G/NG| & =
1Q| 3N S51TM|LEE|2yd] T2 |1 WK 1P (33 =# x |6 — 0
1Q| 5K 18#|EE([1Tyd] TV (24 mE 1P |33 EH# O|[13—0
1Q| 19 30| LE|45yd| S (24 W& 1P |33 EH# O 20— 0
2Q| 445 41 ®|EE[0yd] /AR [1 W —-11 F@A | 1P |33 =H# Of27—- 0
2Q10 2 25 | ILEE(21 yd| SV |24 miE 1P |33 =4 O34 — 0
3Q| 67 10¥|(LEE|30yd] /AR [14® - 18 #Jil | 1P |33 =# O (41 - 0
3Q| 75 15#|EB1E[59 yd| /AR |7 &% —-12 IF [ 1P |1 #mA x (41 — 6
3Ql 9948 F#|EE(20yd| /SR |1 W —80 JIA | 1P |33 =H# O |48 — 6
4Q|3 RN W|EE(12yd] T |24 miE 1P [33 =# O |55 — 6
[Team Record]
BB XK= e =
B2y FHEY a1 %k 8 1
P AT 1Point IEI%I—EZUJ%I 7 — 6 1 — 0
2Point [EI#— RKTh#H o — 0 o — 0
Za—IL FOdO—J)L EBEIH#H—RIIE o — O O — O
A4 725« =1 8k 0 o
7 —RMEDHESH 19 12
Run.~Pass_~Penalty 10 — 8 — 1 8 — 4 — 0}
. H—o —fr 42—t K| 23 — 12 — 2 26 — 10 — 2
EmiSVv—F 213 151
= EI# — S Vvv— K 25 — 192 27 — 79
Fk—%ZJL B — S VvY— K 48 — 405 53 — 230
o E#—ESVvY— K 2 — 67 4 — 111
/N> = .
EHN RFEESNVY—F 33.5 27.8
Fk—&EZLU) s —2N— K 99 162
IR kU —> E# —ESVY— K 4 — 37 2 — 0
XwvoAFdTUE— EHEH —FEENV—F 2 — 58 9 — 132
D7 TILU A —2 A —FESHSVY—F 4 — 0 O — o
A2 —t=Tk mE# —ESVv— K 2 — 4 2 — 30
ZT Db ) &2 — El#—EFESV—F o — 0 (0] — (0]
= Al B —3&Hk\v— F 3 — 25 1 — 5
27 TN [ & — 5 s [@ & O — o0 5 — 4
R—IL T & B[l 2143518 264309
3rd—down conversion R Th /| & 3 / 7 1 / 9
4rd—down conversion Rk TS /| & 1 / 2 2 / 3




[Starting Order] LEBEXZE BIRKZE
@®OFFENSE® @ DEFENSE @ @®OFFENSE® @ DEFENSE®
LT |71 3% FE [3|DL|74|FE EBE |4 LT [79] BI&8 & |3 DL |67| {&BREEEER |2
LG |69t @ [3] DL [65[ k)il &k [4| [LG[75] # sz [3|DL|79] [ & |3
C |74 E BE |4[DL [71]FH TE (3 C |66 Zgith &BAL [3f DL [75] # HR4&E |3
RG |54 F)IIl =4 [3|DL (99| &AO ZE# (2 RG |52| LA #EF (4| DL |58| AR &l |2
RT |59 /h#&  K#6 [3J LB [52]| KH |4 RT |67 {&B&BELEER (2] LB |96 /)1 A |1
WR [49(15F B[4 LB | 9| R XA |1 TE |96]| HJII At |1 LB (b2 AKX #EF |4
WR [18] Il =/ (3 LB 41| E BE=Z|4 WR [12|; T =@ (1) LB | 9| B&E EAX |3
WR [80] JIlA& Ef{E |4 IB| 2|1k =2 |4 WR [26| &Il 1B |2 DB [21|F 1&KEH |3
WR [81|BEH S&E (3DB|11|HFH JFEH |3 RB| 9| Bk/E mA [3| DB 26| &)l 1B |2
RB [24|%& H—8r|3| DB |16| BEE: =EH |3 RB |29 #&HMH {F&& [2|DB | 1| 1N & |1
QB | 1) ik &KX |3|DB|(81|EH £ |3 QB | 7| dt¥ =Eth (4] DB [29| &% H 1R (2
K [oalmm =+ 3P [5almm s+ [3] [k [ 7% Ewlalp [ 7[45 24
[Personal Record] LEX%E [Personal Record] BIE K
% Rushing % Rushing
E: 3 Name Att | Yard| Ave. L] LG H# Name Att | Yard| Ave. L] LG
24 iE it —EB 17 165 9.7 4 45 9 BRI EA 10 37 3.7 0 10
18 HI__#w;E 1 17 17.0 0 17 4 A #ree 7 31 4.4 0 14
4 A EiE 3 5 1.7 0 3 7 JLBr = 7 6 0.9 0 13
49 YiE  EHE 1 4 4.0 0 4 29 FZH (R 3 5 1.7 0 3
1 LB BZK 3 1 0.3 1 2
% Passing % Passing
# Name Att | CMP Yard Int| TD LG # Name Att | CMP Yard Int| TD LG
1 LB BZK 13 8 142 0 2 31 7 JLEF Eh 26 10 151 2 1 59
14 R EBEE 3 2 36 1 1 30
4 A EiE 5 2 35 1 0 31
% Receiving % Receiving
# Name NO | Yard| Ave. | LG # Name NO |Yard| Ave. D | LG
18 FII_BE 2 61 30.5 1 31 12 AT SiE 2 66 33.0 1 59
49 YiE EHE 5 38 7.6 0 18 4 1 B N 2 26 13.0 0 20
11 AH_ FEth 2 32 16.0 1 22 9 BRR EX 2 25 12.5 0 13
99 Bfc0 FEH 1 31 31.0 0 31 21 F  1EKBEA 2 18 9.0 0 10
80 JIUA  B&iE 2 51 25.5 1 31 96 Al At 1 11 11.0 0 11
1 MR R 1 5 5.0 0 5
% Interception % Interception
E: Name NO | Yard 0 E: Name NO | Yard D
11 AH_ FEth 1 4 0 4 FEA fres 2 30 0
52 XKH FEAN 1 0 0
% QB Suck % QB Suck
# Name NO | Yard # | Name NO | Yard
712 AR {HEE 1 20 ZEaL
% Punting % Punting
# Name NO | Yard| Ave. B | LG # Name NO |Yard| Ave. B | LG
24 TMiE  E—ER 2 67 33.5 0 34 7 LB =t 4 111 27.8 0 33
#DI1V/0!
% Fild Goal % Fild Goal
# | Name Att | CMP | Yard | LG # | Name Att | CMP | Yard | LG |Point
EZ%\UL Eié’l‘?:;b
% Kickoff Returns % Kickoff Returns
E: Name NO | Yard 0 LG E: Name NO | Yard D LG
24 & it —EB 2 58 0 30 4 1 B N 4 69 0 19
21 F  1&KBEA 2 32 0 17
26 Z)l B 2 16 0 10
12 OITF S8 1 15 0 15
% Punt Returns % Punt Returns
# Name NO | Yard D LG # Name NO | Yard 1) LG
11 AH_ FEth 2 27 0 27 21 = 1EKEA 2 0 0 0
18 HI B;E 2 10 0 5
% Fumble Returns % Fumble Returns
E: Name NO | Yard 0 LG E: Name NO | Yard D LG
81 FH 2K 2 0 0 0 AL
49 YiFE BHH 1 0 0 0
69 WA EHZ 1 0 0 0
% Kickblock Returns % Kickblock Returns
# | Name NO Yard| TD LG # | Name NO Yard| TD LG
BZAAL A% L




